
Урок математики во  2а классе.
 Тема. Состав числа 14. 
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     Помоги        белочке!
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Два зайчика нашли 14 грибов. 
Сколько нашёл каждый?
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7+7
8+6
9+5

7+3+4
8+2+4
9+1+5

        У кого больше опят ? 

Ушастик Шустрик



⚫7+7=
⚫8+6=                                                                                  
⚫9+5=

⚫7+3+4=
⚫8+2+4=
⚫9+1+4=

1 вариант                    2 вариант



1 вариант                   2 вариант

8+6=14
9+5=14
7+7=14

⚫9+1+4=14
⚫7+3+4=14
⚫8+2+4=14



⚫7+7 = 7+3+4
⚫8+6= 8+2+4
⚫9+5 = 9+1+4





⚫6+8=                       5+9=
⚫     ^                ^

1  вариант                 2  вариант



⚫6+8=14        5+9=14
⚫              ^                               ^
⚫            4 4                             5 4

1  вариант                2  вариант


